Underway Geophysics Lab Cookbook
GMT ZONES AND DEPTH CORRECTIONS

GMT ZONES

You can calculate your GMT zone by dividing the Longitude by 15. Round your result to
the nearest integer.

EAST = NEGATIVE
WEST = POSITIVE

Example: Your longitude is E133°. 133/15 = 8.8 — rounditto 9.

You are in ZONE -9, so you get the GMT by subtracting 9 hours from your local time,
or add 9 hours to the GMT to get the local time.

DEPTH CORRECTIONS

When getting on site, leave the 3.5 kHz recorder running. When the OPS tell you, go get
the correct depth for the drillers.

1) Zero the recorder. Move the depth reader all the way to the left (on the line where the
print starts) and make sure it reads the top of the current range. For instance, if the
range is 3750-4500, make sure on the left edge of the printing area the depth meter
reads 3750 and not 3748 or something. IF the reading is not correct, adjust it by
turning the “ZERQO” knob. Perform the same calibration on the bottom of the range.
This is done by turning the “FULL SCALE” knob.

2) Read the depth on the recorder. Write it on the Depth Correction Worksheet (in
“Uncorrected Depth to the Transducer”.

3) Write down your location from the Winfrog screen, for instance N32 21.2100, E134

56.70. Find the position on one of the charts in the ECHO-SOUNDING
CORRECTION TABLES book.
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You will notice that you cannot really be sure whether you now are in zone 53 or 80.
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worries, there is a tool for this. On the adjacent page to the map, we have LIMITS OF

AREAS IN FIGURE 3.
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LIMITS OF AREAS IN FIGURE 3

LAT(N)

67°-90°

60°-67°

59°-60°

58°-59°

55°-58°

2225, Now, the latitude in our example is between 32 and 33 degrees, so go to that row. The
205> longitude in our case was 134° 56.70, so that is between 134 and 136 degrees. Follow
aea9°  the “32°-33°" row until you get between 134 and 136. There you can read that the
1S as. correct depth correction table to use in this case is the table number 53.
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0°-1°
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Let’s say you read 5354 m. Go to the row 5300. Your uncorrected depth is between 5350
and 5360, so you find your lesser depth limit in column 50 and your greater depth limit in
column 60. Use the following formula to calculate the corrected depth:

—L* -
X=15 (b-a)+a

Where X is the corrected depth
n is the last digit of your original depth
a is the lesser depth limit
b is the greater depth limit

In this example, x = 4/10 * (5393-5382) + 5382 = 5386.4
Write your sheet. In this example, the uncorrected depth is 5354m and the corrected

depth 5386.4 m. The following example is showing all the information you need to worry
about. The OPS will take care of the rest.

PDR DEPTH CORRECTION WORKSHEET

AReA 53 noLe 1234 A pate MAY 16 2001

A. Uncorrected Depth to Transducer: 5354 m
B. Corrected Depth to Transducer: 5386.4 m
C. Transducer to Dual Elevator Stool (DES): +184 m
G. Total Drilling Depth (B+C): 5404.8 m
E. Transducer to Sea Level (Mean Draft + 0.91m): m
F. Water Depth (B+E): m
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